Big Maths! Beat That!
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- BIG MATHS...
menatll | BEAT THAT!
seove was
J
4+9:= 7x5= 6+7= 8+0= 4+7=
3x5= 7+8= 8x5= 9x10= 6x10=
Ox2:= B5x5= 5+9= 5+8= 5+7=
6+9= B5x10= 2x2= 3+9= 4x5=
Ox5= 8x2= 4x10= 2x5= 6+8=
2x10= 7x10= 7+9= 7x2= 8x10=
bx2= 4x2= 3x2= Dx2= 6xb=
5+4:= 3x10= 3+8= B+6= 4+8=
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- BIG MATHS...
rvenaSll | BEAT THAT!
seove was
J
B+7= B5x10= 3xH= 7+8= 4+8=
4x5= 4x2= 3+9= Ox5= 6+8=
8+9= 6+7= 2xbH= 5+8= Hxb=
Hx2= 6x2= 7x2= 6x10= 4+9=
3+8= 3x10= 5+6= 6+9= 4x10=
Ox10= H5+0= 7xB= 2x2= 3x2=
4+7= 6x5= 8x2= 7+9= 7x10=
8xbH= 8x10= 5+4:= 2x10= Ox2=
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BIG MATHS... %

Sl | BEAT THAT!
SCOTe Wik

\ J
6x5= 4+8= 6x10= 7+8= 9x10=
5+8= Ox2= 3+8= Ox5= 3+9=
6+8= 3x10:= 6x2= 6+9= 2x5=
Bxb= 4x5= B+9= 2x2= 7x2=
B+6= 4x10= Bx2:= 8+9= 4+7=
8x10:= 6+7= 4+9= 8xb5= 5x10=
3x2: 8x2= 4x2= 3xb= 7xb=
7x10= 2x10= 7+9= B+7= H+4=
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, , BEAT THAT!
8x2= 7+8= 5+8= 8x10:= 4+8=
3+9= 6x2= 4x10= Bx5= 2x10=
2x2= B+4: 3x2= 7x10= 6x10=
Bx10= 6x5= 6+8= Bx2= 7+9=
4x5= B+7= 9x10= 6+7= 8x5=
6+9= 2xb= 5+9= O9xb= 3x10=
7xb= Tx2= 4+7= B+6= 3+8=
8+0= 4+0: 4x2= 3xb= Ox2=
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- BIG MATHS...
seove was
\. J
4+7= 7+9= 3x10= 7xb= 7x10=
8x10= 3xb= 3x2= B+9:= Ox2=
6xb= B+4= B+7= 8xb= 6+9=
7+8= 9x10= 3+9= 6x10= 8x2=
Bx2:= 6+7= 4xB= B+6= Bx10=
4+8= 4x10= 8+9= 4x2= 4+9=
2x2= Oxb:= Bxb= 6bx2= 2xb=
2x10= h+8= 3+8= 6+8= Tx2=
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Name: ( Year 2 - 90 seconds )
BIG MATHS...
—_—— 4BEAT THAT!
se0Te Wik '
\
8+9:= 4x10= 9x10= 3+8= B5+7=
8x2= Bx2= 4+8= 4xb= 3xb=
7x10= 2x10= 7xb= h+8= B+6=
Hx10= Bxb= 8x10= Oxb= 4+9=
9x2= 5+9= 4+7= 6+9= 7x2=
6+8= 3x2= 8xb= 3x10= 2x5=
6x2= 6x10= 7+8= 4x2= 6+7=
3+9: 7+9= 2x2= B+4= 6x5=
\_
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e 4BEAT THAT!
seove was '

.
B+7= 6x10= 4+9= 8xb= 6+7=
4x10= 7xb= 6xb= 2x10= 8x10=
4x2= 5+6= 5+0= 2x2= 4+8=
8+9= 3xb= 9x10= 3x10= 7x10=
Dx2= 6+8= 4xb= B5x10:= 3+8=
6+9= Bxb= 4+7= 3x2: 7x2=
bx2= 7+8= Ox2:= 7+9= 2xb=
3+9= Oxb= 5+8= 8x2= B+4=
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Bxb= 3+9= B+7= 3x5= 5+4=
6+7= O9xb= 5x10= 3x10= 4x5=
9x10= 7+8: 7x5= 4+7= 2x10=
6+8= Ox2= 4+9= 6x5= 6x2=
8x2= B+6= 7x2= 5+9 7+9=
3+8= 8x10= 2x5= 4x2= 8xb=
Bx2= 3x2: 4x10= 7x10= 8+9=
5+8= 4+8: 6+9= 2x2= 6x10=
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BIG MATHS... %
——— 4BEAT THAT!
SCOTe Wik '
\
Ox10= 7+9:= 8x10= 4x10= 7x10=
5+9= bx2= 7+8= 3+8= 4x2=
3xb= Bx10= Bx2= 9x2= 6+8=
2x10= 3+9= H+8= 3x10= 8xb=
7xb= Tx2= 2x2= 6xb= B+6=
4+7= 2xb= 4+9= 6+9= Oxb=
Bxb= B+7= 4x5H= 8x2= 3x2=
B+4= 6x10= 8+9= 4+8= 6+7=
\
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- BIG MATHS...
SCOTE WS
\. J
3+8= 7x10= Tx2= 8x10= 2x10=
Ox2:= 4+7= 2xb= 4+8= 3xb=
4x10= 4x5= B+7= Oxb= 6+8:=
2x2= 4x2:= Bx2= 3x10= 7+9=
B5+9= 4+9= 5+8= 6+9= Bxb=
8x2= 8xb= bx2= 7xb= 3+9=
B5x10= 6xb:= 3x2= 8+9:= 9x10=
6+/= 7+8= B+4= 6x10= B+6=




